Al (2x+3y+1) - (2x+y - 3) = tds] 52

@ 2x+2y-3 @ 2x+2y+1 ® 2x+4
(@)2y+4 ® -3

(2x+3y+1)—(2x+y-3)=2x+3y+1-2x—y+3=2y+4




2. —(2x?—ax+5)+ (4x* = 3x+b) = cx*+6x+7 (F, a,b,c = &F)
S WS a, b, o o O5tel 2a + b c ©| S ool

c} -
H =

>
> =g 28

B ~
—(2x% —ax +5) + (4x* = 3x + b)
=-2x2+ax—-5+4x*-3x+b
=2x*+(a-3)x-5+b

=cx> +6x+7

a-3=6

a=29

-54+b="T7

b=12

c=2

T 2a+b-c=184+12-2=28




3. A (Ta? - 5x+6) - (35 - 20+ 4) & 78] 52

@4x2—3x+2 @ 4x2-3x+10 @ 4x2-7x-2

@ 4x2-Tx+2 ® 4x>-7x+10

(7x2 = 5x + 6) — (3x% — 2x + 4)
=7x>-5x+6-3x2+2x—-4
=4x2 - 3x+2




4. dx-Bx+y-{x-3y+@2x-5y)}l =ax+by W, ¥ a, bl
ti5tod a - b ©] & F5HH?

® -5 ® -3 ® 3 @ 7 )13

B

4x - [3x+y— {x-3y+ (2x - 5y)}]
=4x— (Bx+y—3x+8y) =4x—9y
La=4, b=-9,
ca-b=4-(=9) =13




5. —3x2 4 2x ol oW AL Eoof & 21 FRokol WEU 2 4 3x 7}
= giek. oWl A& Fafelel.

» =

> ®E: —dx?-—x

e ,
ojH AS A T of

SHRE A4

—-3x2 4+ 2x—A= x% + 3x

A=-3x%4+2x- (x* + 3x)

A= -3x+2x-x*-3x

A=-4x?-x




6.

X—2y

2
3

X
X+y
2y

2y +y

s R

OF

®

[S20\)

TFoHAE? (H x#0, y £0)

@ ®

ot W
[SCRTN

2y-y




T. (Gx-y4+6)—( )=-2x+y-20°NA () o] &2 229

D -Tx-2y-8 @ -Tx-2y+38 ® Tx+4
(@)7x—2y+8 ® 7x+8

~&B

(bx-y+6)—(-2x+y-2) = ( e =

( )=bx—-y+6+2x—y+2
=Tx-2y+8




D 5x @ 5x+6 ® 7x+6

Ax =62 -3x+2+ (x> -3x-2)

_ 7x2—6x_

X

7x—6

A




A (a* - 2a+4) - (-3¢ - ba+ 1) =
Frde w27

a®>-2a+4+3a%+5a-1
=4a’+3a+3
a® Al 3, A2 3

Lo 3x3=9




10.

Slolu] Mol A i AAIsHe 58t 912 el BAIS welt BE
Spgel] =4 AR VS FHT Aek. the-L ol¥l & 58 7= 2A0]
dheto] 5 ] S0l T& Hol AT Aelck. ol EAYEVS
W AL T ot

2A) 3x—2y—{x— (Ty - 6x) + 5} = ax+by+c ¥ ™, a—b+c
o] gt& otodet.

ME 14, 4 010, 73 L -10, B -14, e L 12

Ct -
[= ]

>
> ®et: o

od

i\

~&B !

3x -2y - {x- (7y-6x) + 5}
=3x—-2y—(x—Ty+6x+5)
=3x—2y—(7Tx—Ty+5)
=3x-2y—-Tx+7y—-5
=—-4x+5y—-5

o|lB2 g=-4, b=5, c=-5 °|th.
T2t a-b+c=-4-5+ (=5) = —14 °]t},




1 1 1
11, x+y+z=0¢% Uﬂ,x<;+g>+y<—+—>+z

1

FoA? (T x#0, y#0, z#0)

1 1 1 1 1
gl=ar=)Fy(=a=)Fz|=F=
xy xZ y yZ Zx z X y
=—+-+=-+=+-+-
y 1157}
AR
1 1 1
:;(y-i—z)-l—;(x-i-z)—i—z(x—ky)
1 1 1
=—(=x)+ =(-y) + (=2
L)+ 1) + 2




12.

4708 4= a, b, ¢, dol|l A5t 712 | | & .

qtrt,
2x+y+1 x-2y-4
ofuj, 1y { 27
4 2
3 1 1
@ ;Zx+§y—4 @ —Z)C'i‘y?)
@ Zx—2y+1 ® 4x-|—y—Z

a

b

3

4 =ad-bcE A9

1

@ Zx+§

B




13.

T A (x1, y1) , (x2, y2) ol AISET (x, y1) X (x2, y2)
x1y2 + yixs + y1y2 2 A2l ek o] o, (2x, y) x (<, 3x)

St?

@ —6x2 + xy + 3y?

(@)Gx2 +xy -2

D —6x% + 2xy —y?
® 2x% — xy—y?

® 6x% — xy+ 3y?

2x X (=y) +2xx3x+y X (=y) + yx 3x
= —2xy + 6x2 — y% + 3xy
= 6x% 4+ xy —y?




14.

2x — [Ty = 2x — {2x — (x — 3y)}]

=
H =

>
|> X™ekt 14

od =

B

2x — [Ty — 2x — {2x — (x — 3y)}] = A =JolH
2x - {7y - 2x - (x + 3y)}

= 2x — (—3x + 4y)

=b5x—4y

bx—4y=5%x2-4x(-1)=14




15. oW 4] A of 24 ~5x-+ 7 & Wo} & 22 WRste] HstALi, Hol
7 - 2x 43 o] S|GIT, vk ARG FL9

D 5x2+3x-4 @ 5x2-3x-4 @ 3x2-2x+ 17

@3x2+8x—11 ® 3x2-12x+3

A=7x-2x+3-(2x> -5x+7)
=5x?+3x—4
(HFEAAY) = 5x% +3x -4 — (262 = 5x+7)
=3x24+8x-11




